Example 10.

1. Problem statement
We have the control system described by Cauchy problem 
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The constraints are absent.

It is given the functional
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We have the problem of maximization of this functional.
2. Task for students: to obtain necessary conditions of optimality.

By standard maximum principle we determine the function 
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The function p is the solution of the adjoint system
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The optimal control satisfies minimum principle
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3. Analysis of the necessary conditions of optimality.

We have the system (1), (2), (3) for finding three unknown functions u, x and p. The dependence of the function H from the control is linear. The constraints are absent. So this function is unbounded. Minimum principle can have the solution only as a singular control in this situation. 

Question: What is the singular control for this problem?
A singular control can be finding from the equality to zero of the coefficient before the control u of the function H. Then we have
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By the system (2) it is possible only if
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Then we get the singular control 
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from the equality (1).

Conclusion: The maximum principle has the unique solution 
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4. Kelley condition 
We found the solution of the minimum principle. But we know that we have necessary conditions of the optimality. Its solution can be optimal or not. However we know also Kelley condition as the necessary conditions of the optimality for the singular control. The control u can be optimal if it satisfies the inequality
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Task for students: To verify Kelley condition for the given singular control.
We can find the derivative
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After differentiation by t we get
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because of the adjoint equation (2). After next differentiation by t we have
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because of the state equation (1). After next differentiation by u we obtain the equality
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Then Kelley condition is false.

Conclusion: If a singular control does not satisfy Kelley condition, then it is not optimal. So the necessary conditions of optimality are not sufficient for our example. However it has the unique solution. If the unique solution of necessary conditions of optimality is not optimal then this problem does not have any solutions. Hence this optimization control problem is insolvable.
5. Direct analysis of the problem

We determine the sequence of the controls by formula
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We find the state function
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from the system (1). The corresponding value of the functional is equal to
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Therefore 
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 Then the value of this functional can be arbitrary large. So the problem of its maximization does not have any solutions in really.

General conclusion. We have the insolvable optimization control problem, however necessary conditions of optimality have the solution. 
Пример № 10. Разрешимость условий оптимальности
в отсутствии оптимального управления
1. Постановка задачи
Даны уравнение                                                          
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и критерий оптимальности
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Задача 9. Максимизировать функционал I на множестве решений уравнения (1).
Отталкиваясь от принципа максимума, вводим функцию
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Функция р есть решение сопряженной задачи
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Управление и ищется из условия минимума функции Н:
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Эта функция является линейной, а значит, не ограниченной. Учитывая отсутствие ограничений на управление, отсюда следует, что соотношение (3) может иметь решение исключительно в форме особого управления.

Особое управление реализуется исключительно в том случае, когда коэффициент при члене в функции Н, куда входит управление, обращается в нуль. В результате приходим к равенству


[image: image29.wmf]2

1

(1).

2

pt

=-


Согласно (2) это возможно исключительно при выполнении условия
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Тогда из уравнения (1) находим особое управление
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Вывод. Принцип максимума для задачи 10 имеет единственное решение – особое управление 
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Известно, что необходимым условием оптимальности особого управления является условие Келли, которое для задачи максимизации функционала имеет вид:
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Находим
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Итак, условие Келли не выполняется, а значит, особое управление не оптимально.

Вывод. Единственное решение принципа максимума не оптимально.

Вывод. Принцип максимума является необходимым, но не достаточным условием оптимальности.

В условиях единственности решения принципа максимума это возможно исключительно в том случае, когда задача 9 не имеет решения.

Покажем, что рассматриваемый функционал не имеет максимума. Определим, например, последовательность управлений согласно формуле:

[image: image38.wmf]()

k

utk

=

.

Соответствующие решения задачи (1) равны:
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Найдем значения функционала
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Отсюда следует, что 
[image: image41.wmf]()

k

Iu

®¥

 при 
[image: image42.wmf],

k

®¥

 т.е. значение максимизируемого функционала может быть сколь угодно большим. Следовательно, рассматриваемая задача действительно не имеет решения.
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